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answer all the questions in this paper.
1Simplify pl+20d +g’
P —pg’ +p'd 0 (4mks)
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2 Find the square root of 2704 by factorization. (2mks)
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3 Solve the simuitaneous equations. : (3mks)
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4 Two towns A and B are 80 KM apart. Juma started cycling frpm town A to town B at 10. 00am at an

average speed of 40km/ph. Mutuku started his journey from town B to town A at 10.30am and travelied
by car at an average speed of 60km/h. Calculate:

{a)The distance from town A when juma and Mutuku met. (5mks)
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(b) The time of the day when the two met. k {2mks)
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©Kamau sterted cycling from town A to town B at 10.21am.he met Mutuku at the same time as
Juma did. Determine Kamaus average speed, ' (3mks)
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5 Work out without using mathematical tables or calculator.

0.25x0.08 x0.5
0.0625x 2.56 U ./‘___ (3mks)
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6 A straight line passes through points (-2,1) and (6 ,3). Find :
(a) The equaﬁon of the line in the form Y =MX +C " -3 (2MKS) ‘j" i/ PO
3. 2oy S 1 G N e
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(B) The gradient of a line perpendicular to the line in (a) (2mks)
G- ~#
7 solve the inequalities X—5< 3X-80X-3 (3mks)
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(B) Represent the solutionon a number line.
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